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QUESTION 1

A storage engineer is troubleshooting a Cisco MDS switch upgrade issue. What prevents the completion of a non-
disruptive upgrade? 

A. The Fibre Channel host initiator is connected. 

B. The Fibre Channel storage target is connected. 

C. The Cisco Fabric Services operation in progress. 

D. The Fibre Channel and FCoE storage targets are connected. 

Correct Answer: B 

Reference: https://www.cisco.com/en/US/docs/storage/san_switches/mds9000/sw/rel_3_x/release/notes/14116.16.html 

 

QUESTION 2

Refer to the exhibit. 

Which command is used to determine which switch has the lock? 

A. show fcs ie vsan 

B. show zoneset active 

C. show zone status 

D. show flogi database 

Correct Answer: C 

 

QUESTION 3

Refer to the exhibit. 
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An engineer is configuring Inter-VSAN routing for two Cisco MDS switches. The FSPF cost between the switches is
500, and the Cisco MDS core virtualizes an IVR NAT domain as shown. Which statement about the topology is correct? 

A. The MDS-Core simulates an IVR NAT, and the FSPF cost is 500. 

B. The MDS-Core simulates an IVR NAT, and increases the cost to 501. 

C. The MDS-Core simulates an IVR NAT, and decreases the cost to 400. 

D. The MDS-Core simulates an IVR NAT, and increases the cost to 600. 

Correct Answer: B 

 

QUESTION 4

What is the function of the 0xFFFFFC address in a Fibre Channel fabric? 

A. management server 

B. fabric controller 

C. name server 

D. time server 

Correct Answer: C 

 

QUESTION 5

Which configuration is always required when running the setup utility on a Cisco MDS 9000 Series Switch? 

A. administrator password 

B. management IP address 
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C. active NTP server 

D. active default gateway 

Correct Answer: A 
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